(EffiR-1]A7) -8 #(C8ET TAIERME) ¢ 1600 M FTEEKR37.4m 1 X 4y
% BRO® Bl % 8 #MEA fim %

TAR—ARHEESR A 0260 O

BHAEXE A 0770, O

EBEXE A 0260 O

REESNER(27)-X) & CI-CMC-HA# L<45m =| 0260 O [#EHEfR-1]

A7V (E B E) &k HE/140m3/h =] 0260 O [#EREfR-2]

HME (R+FHD) FHE - HHELREE DY Ea 1.000

X HMAT REHSMENRURE-BE-BR.UREROEMICEITIER. BEAICHTIREZOEATHY, FHE - BNEGEEDSHEICL

ROREFEL-EBELRELTH ET S,

(EffiR-2]27) -8 #(C 8T ZEAIERME) ¢ 1600 M FTEEK37.6m 1 X 4y
& BRO® B % 8 #MEA fim %

TAR—ARHEESR A 0260 O

BAEXE A 0770, O

EBEXE A 0260 O

REESNER(27)-X) & CI-CMC-HA# L<45m =| 0260 O [#EREfR-1]

A7 UM (2B E) &R HE/140m3/h =] 0260 O [#EREfR-2]

HME (R+FHD) FHE - HHELREE D% Ea 1.000

X HMADT RESMENRUVRE-BE-BR.UREROEMICEITIER. BEHICHTIREZOEATHY, FHE - BNEGEEDSHEHEICL

ROREFEL-EBELRELTH LTS,

Hifik 1/4



(EffiR-3] A7) E#(Z8fE T ZAIERE)_ ¢ 1600 M FTEEKR37.8m X By
% BRO® Bl % 8 #MEA fim %

TAR—ARHEESR A 0260 O

BHAEXE A 0770, O

EBEXE A 0260 O

REESNER(27)-X) & CI-CMC-HA# L<45m =| 0260 O [#EHEfR-1]

A7V (E B E) &k HE/140m3/h =] 0260 O [#EREfR-2]

HME (R+FHD) FHE - HHELREE DY Ea 1.000

X HMAT REHSMENRURE-BE-BR.UREROEMICEITIER. BEAICHTIREZOEATHY, FHE - BNEGEEDSHEICL

ROREFEL-EBELRELTH ET S,

(B ffiR-4)E 2R AR 80X R B R & WIER(R7) - )CI-CMC-HAH L=45m E =D
& BRO® B % 8 #MEA fim %

RRIEES A 123000 O

FITV-VIL-uEERE A’ 25t =] 14000 O

FITV-VIL-uEERE A’ 60t =] 12000 O

bR R E At 360tH =] 2000 O

HME (R+FHD) FHE - HEREE D40% Ea 1.000

X HMEDT EREFOERATHY, FHE - HHELREOSHBICLRORERL-EBELRELTEH LTS,

Hifik 2/4



(Bl R-5]A7)-E# (8t T ZTAIERME)_ ¢ 1600 M $TE%K36.3m X By
% BRO® Bl % 8 #MEA fim %

TAR—ARHEESR A 025 O

BHAEXE A 0750 O

EBEXE A 0250, O

REESNER(27)-X) & CI-CMC-HA# L<45m =| 0250 O [#EnEfiR-1]

A7V (E B E) &k HE/140m3/h =] 0250 O [#EnEfiR-2]

HME (R+FHD) FHE - HHELREE DY Ea 1.000

X HMAT REHSMENRURE-BE-BR.UREROEMICEITIER. BEAICHTIREZOEATHY, FHE - BNEGEEDSHEICL

ROREFEL-EBELRELTH ET S,

Hifiz 3/4



[ EER B R -1 iFEES LIEH (7)) &L (CI-CMC-HA# L=45m) B %y
% b % B | % 2 #HME fi& =z

EEF %) A 1.000

230 L 53.000

FERELER(27)-RX)EH CI-CMC-HA#% L=45m #“AR 1.590

AME(F50) = 1.000

X HEHEIWRBEVNEBOHFELET S,

[Het B Bl R -2)257 500 (& B &) 1BER (R H140m3/h) B %y
% b % B | % 2 #HME fi& =z

A7 UM EBE) BE40m3/h #“AR 1.590

EME (FEHNH) = 1.000

X OEMEBLHBNEOHE LTS,

Hifix 4/4



